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Four options are given against each of the following questions. Select the best/correct
option from among the four options and encode in the answer sheet by using Black Ball
Point Pen only as per example given below :

Example P : They took some time to adjust ........ the new country.
(A) with EB) to
(C) in (D) at
Example Q : Mr. Bose, ......... Principal of our college is a well known man.
(A) the (B) a
(C) an No article is needed
PART -1

Direction for Question Nos. 1 to 8

Select the appropriate option to fill in the blanks.

IP :\"\.
1. A good teacher teaches ......... example. ; gy
O 0 LT

(A) in B) from /Cﬂ / ‘;’;';_;-'70/
-~ . i3

.o

(C) by (D) None of these I ls. 4
/‘Lﬂ oy k."': /4
2. Use mask as a precaution ........ Corona Virus. L _f-.—';f‘. . -_Z_‘f‘:i//
D7 ;
(A) for (B) against T
(C) from (D) to
3. This side is parallel ......... that.
(A) to (B) of
(C) with (D) from
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4. Thick mist hung ......ccoevco.... the forest.

(A) over (B) on
(C) around (D) about
5. The new foreign policy has invited a lot of appreciation from ......... oppositior
(A) an (B) a
(C) the (D) No article is needed
6. He was elected ......... chairman of the board.
(A) the (B) a
(C) an (D) No article is needed
7. The park has facilities for ......... physically challenged to move around with ea
{A) the (B) a
{C) an (D) No article is needed
8. He knew he had hit ......... jackpot.
(A) a (B) an
(C) the (D) No article is needed
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Direction for Question Nos. 9 to 12

Select the word or group of words almost similar in meaning

to the underlined word or group of words.

9. Sweet arc the uses of adversity.
(A) Abundance (B) Affliction e v —
TS C
‘:Tu";]. L % F-:Ti
(C) Paucity (D) Clemency "3 Ii,h.t,; 5 ' N ;
Skt i
C== E AR
10. Tt was very cramped in the cottage. L S- = = l
(A) Lack of enough space (B) Comfortable
(C) Tranquil (D) Cosy
11. Aunt Enid would in due course be repatriated to England or Ireland.
(A) Settle (B) Return to native land
(C) Migrate (D) Go for a tour
12. His devious nature was shown in half-lies and small dishonesties.
(A) showing a skilful use of underhand tactics to acheive goals
(B) being cruel to others
(C) being technologically competent
(D) having secret knowledge about the state of affiars
2/TR/CTSTPS/PRE/20/A-3000 6))] [Turn over



13.

14.

15.

16.

Direction for Question Nos. 13 to 16

Select the word or group of words that is almost opposite in meaning to the

underlined word or words.

Kipling’s The Phantom Rickshaw is an cerie little tale set in Shimla.

(A) Sweet (B) Familiar

(C) Wonderful (D) Strange

You are not so small as I, and not half so Spry.

(A) Lazy (B) Tricky

(C) Crafty (D) Smart

The man who was in the spot, reported the matter in a diffident manner.

(A) Confident (B) Sulky

(C) Disinterested (D) Timid

The new car in the market has an ample boot.
(A) Scanty (B) Dingy
(C) Shiny (D) Stufty
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Direction for Question Nos. 17 to 20

Indicate the word or group of words nearest in meaning
to the underlined expressions.

17. He welcomed us with open arms.
(A) dispassionate manner
(B) accept the challenge
(C) with great affection and enthusiasm T e
(D) with suspicion
18. 1 was on cloud nine, once I had the marathon meeting completed.

(A) relieved (B) very proud

(C) extremely happy (D) rejuvenated

19. T could see that she was in a bad mood so I gave her a wide berth.

(A) stay away from
(B) console
(C) totally ignore

(D) try to make someone happy

70. She gave him a piece of her mind for his garrulous nature.

(A) made fun (B) appreciated

(C) scolded (D) laughed a lot
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Direction for Question Nos. 21 to 23

In this section some part/parts of each statement have been jumbled up. These par
been labelled as P, Q, R, S. Four alternative arrangements of the parts have been
The right arrangement to produce the correct sentence has to be identified.

Example R : a sailing ship won the top prize my photograph ¢
(A) RQPS (B) PQSR
SPQR (D) QPRS
21. Right turn ahead is crowded take the next if the junction
(A) PQSR (B) RPSQ
(C) QSRP (D) SRQP
22. Of the Lima i1s an animal in south camel family found
(A) RSQP (B) PQSR
(C) QPSR (D) RQPS

23. Choir sing in fry used to the church

® © ® ®

(A) RQSP (B) PSQR v

(C) SQRP (D) QRPS

2/TR/CTSTPS/PRE/20/A-3000 (8)



Direction for Question Nos. 24 to 27

Tn this section each sentence is underlined and labelled in three separate sections. Identify
the section in which the error is located. If you feel that there is no error, Section D
will signify a ‘No error’ response.

Example § : LEveryone except me was present. No error

® ©

24. He will go to the law No error

® ® © o

Z3 Please bring me a sheet of paper from the office No error
® ® © ©
26. Lying in bed an idea occurred to me No error
I = 7
P S C
2 b Give the story in details No_error ' 1:(;;_'5_, Wi Tans cJ

® ® © © EiNGH
Er ==y, iy
-

Direction for Question Nos. 28, 29 and 30

Read the following passage carefully. The passage is followed by three questions based
on it. Alternative answers have been given for ecach question. Select the most suitable
answer from the alternatives.

Passage

‘Swadeshi® a native movement that Gandhi introduced primarily aims at Khadi and other
village industries which in the long run would help making every village self sufficient
and independent of its own. ‘Swadeshi’ is economic neighbourhood. It respects and
safeguards the interest of one’s neighbours, rather than distant people. For instance, ‘if
I wear an imported shirt, that would help a foreign merchant but make my neighbour
(village weaver) without a customer, thus leaving him in poverty and hunger. This is what

2 TR/CTSTPS/PRE/20/A-3000 (9 [Turn over



Gandhi opposed. He wanted to develop, economic neighbourhood among people. G
principle of ‘Swadeshi’ was not only relevant to the days of British India, but
the contemporary times. Political freedom from the British yoke has not cured us
colonial syndrome (videshi mindset). We prefer imported goods at the cost of indi
articles. That makes Indian market poor, leading to economic disparities and co

28. What is meant by ‘Swadeshi’ in the passage ?

(A) ‘Swadeshi” is a native movement introduced by Gandhi.

(B} What respects and safeguards the interest of one’s neighbour is
‘Swadeshi’ ?

(C) The other name of ‘Swadeshi’ is economic neighbourhood.

(D) That which encourages village industries is called ‘Swadeshi’.

29. Where lies the harm if one buys foreign goods only instead of home-prody

(A) It would help the foreign merchants having one’s neighbours (c«
manufactures) without customer and thereby in hunger and poverty.

(B) It would grow a ‘Videshi mindset’ or colonial syndrome among us.
(C) It would go against Gandhi’s concept of economic neighbourhood.

(D) The aims of ‘Swadeshi’ movement would not be fulfilled.

30. What is the ultimate goal of ‘Swadeshi® movement ?
(A) To make every village sclf sufficient and independent of its own,
(B) Encouraging Khadi and other village industries.
(C) To stop buying foreign goods.

(D) To clear the native market of foreign goods.

2/TR/CTSTPS/PRE/20/A-3000 (10) T
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PART - HI

31. Which of the following is the youngest mountain range of India ?
(A) Himalayas (B) Western Ghats

(C) Eastern Ghats (D) Vindhya and Satpura

32. Which of the following is associated with coral atolls ?
(A) Nicobar group of Islands
(B) Lakshadweep Islands
(C) Islands of Sundarban delta

(D) Wheeler and Shorts Island

33. Tamilnadu and Kerala are connected through

(A) Pal Ghat (B) Bor Ghat

{C) Thal Ghat (D) Amba Ghat

3. Which one of the following is a volcanic lake ?

(A) Ular lake (B) Sambar lake
(C) Lonar lake (D) Loktak lake
35. Westerly disturbances are associated with [
] ] = r r E__\:_‘-%’H,
(A) Rain and hail storm over North India 5 £F ' ':‘.___p ‘7
oI e T
(B) Rain and snowfall over South India _— ki 5 l = /
:! “':—I;.T“-: C . w S[
(C) Cyclones along the west coast of India - -_.EJ_*___ L_: C I
--‘Q-—-‘—

(D) Cyclones along the east coast of India
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36. Operation Flood in India is associated with
(A) Flood Management
(B) Production of Milk
(C) Production of Eggs

(D) Production of Fishes

37. Which of the following State is the largest producer of chromite in India ?
{A) Meghalaya (B) Madhya Pradesh

(C) Odisha (D) Chattisgarh

38. Tank irrigation is predominant in
(A) North India (B) South India

(C) North-East India (D) Western India

39. The Shivasamudram water falls is situated on
(A) Krishna river (B) Narmada river

(C) Kaveri river (D) Godavari river

40. Ankaleshwar is famous for mining of
(A) Copper (B) Zinc

(C) Petroleum (D) Coal

41. Seshachalam Hills bio-sphere reserve is located in which of the following States ?

(A) Kerala ' (B) Andhra Pradesh

T~

(C) Madhya Pradesh (D) Telangana

2/TR/CTSTPS/PRE/20/A-3000 (12)
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(A) Trans Himalayas (B) Greater Himalayas

(C) Lesser Himalayas (D) Outer Himalayas

43. Jaduguda mines known for mining of Uranium is in which State 7
(A) West Bengal (B) Madhya Pradesh

(C) Tharkhand (D) Bihar

44 Consider the following statements regarding Spring Tides :
1. These tides occur when Sun and Moon are at right angles to each other .
7 These tides occur when Sun, Moon and Earth remain in a straight line.
3. These tides occur during full Moon and new Moon.

Which of the above statements are correct ?

(A) 1,2 and 3 are correct. ‘_f e
; T!"r o S —
(B) 1 and 3 are correct and 2 is wrong. v > GL ,u: ""-~~-_f~3 7

(C) 2 and 3 are correct and 1 is wrong.

(D) 1 and 2 are correct and 3 is wrong. =~

15, Which one is a non-conventional source of energy for India ?
{A) Thermal energy (B) Nuclear energy

.C Hydel energy (D) Solar energy

TR CTSTPS PRE20/A-3000 (13) [Turn over



46. Which of the following States of India has the largest forest cover ?
(A) Maharastra (B) Chhattisgarh

(C) Nagaland (D) Arunachal Pradesh

47. Which of the following tribes of India celebrates ‘Sarhul’ festival ?

(A) Toda (B) Munda

(C) Garo (D) Chenchu

48. Match List I with List IT and select correct answer from the code given below :

List - I List - II
Iribes Areas
(a) Kuki 1. Andaman and Nicobar Island
(b) Jarwa 2. Arunachal Pradesh
(¢) Chenchu 3. Uttarakhand
(d) Bhotiya 4, Manipur
Code: (a) b (c) (d)
(A) 2 3 4 1
(B) 1 Z 3 4
(C) 4 1 2 3
® 3 4 1 2

49. Northward shifting of the sub-tropical jet stream from Northern India is often relate
(A) Onset of the SW monsoon (B) Withdrawal of the SW monsoon

(C) Onset of the NE monsoon (D) No impact on monsoon

2/TR/CTSTPS/PRE/20/A-3000 (14)



50. Consider the following :

1. Trees grow under saline water.
2. Trees bear stilt roots and pneumatophores.

3. Hental, Bani and Sundari are some of the important species of this forest.
Identify the forest.

(A) Casuvarina Forest (B) Sclerophyl Forest

(C) Mangrove Iorest (D) Temperate Forest

51. Climate of Tripura can be classified as

L
)

i

(A) Tropical Evergreen
(B) Tropical Savanna
(C) High Altitude Vegetation

(D) Cool Temperate Vegetation

Which one of the following is the western most hill range of Tripura ?
(A) Jampui (B) Longtarai

(C) Atharamura (D) Baramura

According to 2011 Census of India, the population density of Tripura is:
(A) 350 persons/km® (B) 360 persons/km?

(C) 375 persons/km? (D) 380 persons/km?

River Manu of Tripura is originating from which of the following hills ?
A+ Sakhan Hills (B) Longtharai Hills

{  Debtamura Hills (D) None of these

2 TR CTSTPS PRE 20/A-3000 (15) [Turn over



55. Tripura attained Statehood on 21st January, 1972. Which of the following two S
attained Statehood on same day ?

(A) Manipur and Mizoram
(B) Mizoram and Meghalaya
(C) Meghalaya and Manipur

(D) Mizoram and Arunachal Pradesh

56. Which district of Tripura has the lowest literacy rate as per 2011 Census ?
(A) South Tripura (B) West Tripura

(C) North Tripura (D) Dhalai

57. Agartala in Tripura is located at following latitude and longitude

(A) 23.8315°N (B) 23.8789°N
91.2868°E 92.8976°E
(C) 24.8333°N (D) None of these

92.7789°E

58. Khudiram Bose was associated with
(A) Anushilan Samiti (B) Bengal volunteers

(C) Jugantar Dal (D) Mitra-Mela

59. Who was the author of ‘Gita Rahasya’ ?
(A) K. M. Munshi (B) Aurobindo Ghosh

(C) Swami Vivekananda (D) Bal Gangadhar Tilak

2/TR/CTSTPS/PRE/20/A-3000 (16)



60.

0l.

62.

2N
LS ]

64.

Which of the following Acts was nicknamed as the ‘Gagging Act” ?
(A) Vernacular Press Act, 1878

(B) Factory Act, 1911

(C) Rowlatt Act, 1919

(D) Workmen’s Compensation Act, 1923

Who was tried and hanged for an attempt to kill Mr. Kingsford, the Presidency Magistrate ?

r F r\ o

(A) Khudiram Bose (B) Hari Natu
(C) Prafulla Chaki (D) Bina Das : r'“f-—«.._
o0 L;‘: ¥ “
Who among the following was not a moderate leader ? ;}/ C 'Z::-;-;_
~— ~

(A) Phiroze Shah Mehta (B) Rash Behari Ghose

(C) Bipin Chandra Pal (D) Womesh Chandra Banerjee

(A) Young Bengal movement (B) Non-violence movement

{C) Khilafat movement (D) Swadeshi movement

Why was Simon Commission opposed in India ?
(A) Tt proposed the partition of India

B There was no Indian member

1: denied the relief measures for Famine

D Aol the above

73 CTSTPS PRE 20 A-3000 (17)
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65. The Mont-Ford proposals m British India were related to
(A) Constitutional Reforms
(B) Educational Reforms
(C) Police Administration Reforms

(D) Socio-economic Reforms

66. Which Act provided for establishing a Pﬁblic Service Commission for both the Un
cach State ?

(A) Government of India Act, 1909
(B) Government of India Act, 1919
(C) Government of India Act, 1935

(D) Indian Independence Act, 1947

67. Dayananda Saraswati was the founder of
(A) Brahmo Samaj (B) Arya Samaj

(C) Theosophical Society (D) Prarthana Samaj

68. Which of the following statements regarding the Non-Cooperation Movement are corr
1. The Indian National Congress unanimously accepted the proposal of non-coopera

2. Before the launch of the movement, Gandhiji gave a notice to the Viceroy abou
movement.

3. Lokmanya Tilak passed on the day the movement was launched.

Select the correct answer from the codes given below :

(A) 1 and 2 only (B) 2and3 only

(C) 1and 3 only (D) 1,2and3

2/TR/CTSTPS/PRE20/A-3000 (18)



69. Who, apart from Mrs. Annie Besant, also launched the Home Rule Movement ?
(A) Bal Gangadhar Tilak (B) Balwant Phadke

(C) Madan Mohan Malaviye (D) Lala Hardayal

70. Which movement was also famous as ‘August Kranti’ movement ?

(A) Tebhaga (B) Santhal
(C) Quit India (D) Champaran Non-Cooperation
/ \
' PA
71. He was born in 1817. - \!\\\
He was knighted in 1888. S {/’ R
{C (P S

He founded the Anglo-Oriental College at Aligarh., . ‘1
He was a member of the Governor General’s Executive Council. \5 , £ %
Who was he ? \/‘
(A) Badruddin Tyabji (B) Aga Khan
(C) Syed Ahmed Khan (D) Khan Abdul Ghaffar Khan

2. Inresponse to which of the following proposals was the ‘Quit India Movement’ launched ?

{A) Simon Commission Report (B) Cripps Mission Proposal

(C) Cabinet Mission Plan (D) Wavell Plan

>. Who was elected the President of Indian National Congress in the famous Tirupati session

0519397
4 Subhas Chandra Bose (B) Sarat Chandra Bose
C  Pamabhi Sitaramiva (D) Rash Behari Bose
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74. Which of the following princely States did not sign the Instrument of Accession ?

155

76.

77

(A) Junagadh (B) Baroda
g

(C) Bikaner (D) Jaipur

Which of the following pairs is a mis-match ?

(A) The Indian Struggle - Subhas Chandra Bose

(B) My Experiments with truth - Mohandas Karamchand Gandhi
(C) The Discovery of India - Jawaharlal Nehru

(D) Life Divine - Bal Gangadhar Tilak

The Radcliffe Commission was appointed

(A) to enquire into the Noakhali riots

(B) for delimitation of boundaries during partition
(C) to grant internal autonomy

(D) None of the above

Due to the leadership and success in which one of the following did Vallabhbhai Pat

the title “Sardar™ ?

(A) Kheda Satyagrah

(B) Non cooperation Movement
(C) Bardoli Satyagrah

(D) Civil Disobedience Movement

2/TR/CTSTPS/PRE/20/A-3000 (20)
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The Tripura State Gazette, 1903 an official newspaper was first published during the reign
of

(A) Maharaja Radha Kishore Manikya
(B) Maharaja Birendra Kishore Manikya
(C) Maharaja Bir Chandra Manikya

(D) None of them

Which of the following Maharani of Tripura brought an idol of Sri Sri Radhamadhab from
Manipur, the same was installed at Radhanagar of present capital Agartala.

(A) Maharani Hariseshwari Devi (B) Maharani Kutilakshi

(C) Maharani Bhanumati (D) Maharani Muktabali

‘Benuban Vihara® was constructed during the reign of
(A) Maharaja Dhanya Manikya . o : _
(B) Maharaja Bir Bikram Manikya - 1
(C) Maharaja Radha Kishore Manikya

(D) Maharaja Birendra Kishore Manikya

.. Ethnically Reangs are divided into following major clans

. Meska II. Molsoi
Which is the following is correct

{A) I only (B) II only

(C) Iand Il only - (D) Neither I norII

-zno¢ Naik Albert Fkka who saved Agartala from Pakistan during 1971 war was awarded

& Kird Chalea (B) Shaurya Chakra
« rirzm Vi Chakra (D) Ashok Chakra
= . .S58 PRE D A2000 (21) [Turn over
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84.

85.

36.

87.

On which date High Court of Tripura was established ?
(A) 25th April, 2013 (B) 23rd March, 2013

(C) 25th March, 2013 (D) 10th February, 2012

Which God is worshipped as the God of Forest amongst tribals of Tripura ?
(A) Lampra (B) Burache

(C) Manui (D) Mikatal

Where in Tripura was a colossal stone image of Avalokiteshvara found ?
(A) Pilak (B} Unokoti

(C) Devatamura (D) None of these

Which Article of the Constitution of India mentioned the posts of the Chairman and

Deputy Chairman of the Council of States ?
(A) Article 90 (B) Article 89

(C) Article 93 (D) Article 94

How many members are nominated to the State Legislative Council by the Governor
(A) One-third (B} One-sixth

(C) One-twelfth (D) One-eighth

2/TR/CTSTPS/PRE/20/A-3000 (22)



e

88. Which of the following is not correctly matched ?
(A) Article 153 - Governors of States
(B) Article 154 - Exccutive power of State
(C) Article 155 - Removal of Governor

(D) Article 156 - Term of office of Governor

29. The term ‘Cabinet’ is mentioned in which of the following articles of the Constitution ?

(A) Article 273 (B) Article 74
(C) Article 175 (D) Article 352
=
L . P sS
90. Constitutional safeguards to civil servants are ensured by ;T !f;-_-j——-...._‘:i_M Lo
N T S A
o Wy A
(A) Article 310 (B) Article 311 SiHAT ,
E ":j;:~~__'_,___ i ~t} -
(C) Article 312 (d) Article 315 it~ G

91. Which of the following must be approved by the Public Accounts Committee being
submitted to the Lok Sabha for voting ?

(A) Excess grant (B) Additional grant

(C) Exceptional grant (D) Token grant

F]

2> Which of the following Fundamental Rights is guaranteed only to the citizens of India
and not to the foreign nationals living in India .

.A1 Equality before law and equal protection of law
3. Freedom of speech and expression
C  Rightto life and liberty

= RUzhito the freedom of religion
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93. Under which article of the Constitution, the Governor can reserve the bill for the
consideration of the President ?

(A) Article 199 (B) Article 200
(C) Article 201 (D) Article 202
94. The decision of the Central Administrative Tribunals can be challenged in the Sup
Court of India under the
(A) Article 323 A (B) Article 329
(C) Article 243 C (D) Article 343

95. By which Constitutional Amendment Act was the term *Socialist’ added to our
constitution ?

(A) 40th Amendment Act, 1976
(B) 42nd Amendment Act, 1976
(C) 44th Amendment Act, 1976

(D) None of the above

96. Which article is related to Special Address by the President ?
(A) Article 84 (B) Article 85

(C) Article 86 (D) Article 87

97. Which article of our Constitution empowers the High Courts to issue writs for the
enforcement of the Fundamental Rights ?

(A) Article 228 (B) Article 214

(C) Article 234 (D) Article 226
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98 Which article of the Constitution of India is related to the Special provision with respect
to the State of Nagaland ?

(A) Article 371 (B) Article 371 A

(C) Article 371 B (D) Article 371C

99. Gender responsive budgeting has been adopted in India in the year-
(A) 2005-06 (B) 2010-11
(C) 2013-14 (D) 2015-16

100. Three year Action Plan of NITI Aayog suggested a “Judicial Performance Index”. It
has been suggested to assess the performance of

(A) The Supreme Court
(B) The District Courts and Subordinate Courts
(C) The High Courts
(D) All of the above -
i01. Gram Panchayat Development Plan covers all subjects mentioned in 11th schedule of
Indian Constitution. It covers how many subjects ?
(A) 24 (B) 27

(C) 29 (D) 31

*2. The Plan Jaunched in the 50th year of Indian Independence was
(A) Sixth five year plan (B) Eighth five year plan

{C) Ninth five year plan (D) Tenth five year plan
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103.

104,

105,

106.

107.

How many SEZs, India had formally approved as of September 16th, 2019 2

(A) 318 SEZs (B) 379 SEZs

(C) 417 SEZs (D) 423 SEZs

Inclusive growth as enunciated in the Eleventh Five Year Plan does not incluc
the following

(A) Reduction of poverty
(B) Extension of employment opportunities
(C) Strengthening of capital market

(D) Reduction of gender inequality

Which Indian Five Year Plan ensured high growth rate as compared with targe
growth rate ?

(A) Fifth Plan (B) Fourth Plan

(C) Second Plan (D) Eighth Plan

How many members can the President nominate in the Indian Parliament ?
(A) 14 (B) 15

(C) 17 (D) 18

The book ‘Hind Swaraj’ is written by
(A) Rammohan Roy (B) M. K. Gandhi

(C) Shyamaprasad Mukherjee (D) 1. P. Narayan
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108. Which among the following in India has the function of recommending Minimum
Support Prices for various commodities 10 the Government ?

(A) National Farmers Commission

(B) Commission for Agricultural Costs and Prices

(C) Central Statistical organization

of

(D) Department of Agriculture

109. When was the Agartala Municipal Council elevated to the Agartala Municipal
Corporation ?
(A) 21.01.2011 (B) 21.01.2012

(C) 21.01.2013 (D) 21.01.2014

110. In context with the Fertilizer requirement in India, for which of the following resource
we are 100% import dependent ?

(A) Urea (B) Phosphate
(C) Potash (D) Ammonium Sulphate
] 5 G
Mo g
__ S|£:f_. j_, £
iC e —~ [
BB, |
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PART - I

111. The World Health day is celebrated on

(A) 2Ist March (B) 29th March

(C) 7th April (D) 21ist April

112. Consider the following pairs :

113,

Tribes States
1. Limbo (Limbu) Sikkim
2. Karbi Himachal Pradesh
3. Dongaria Khonds Odisha
4. Meena Rajasthan

Which of the above pairs are correctly matched ?
(A) 1and 3 only (B) 2 and 4 only

(C) 1,3 and4 only (D) 1,2,3and 4

The Reserve Bank of India recently extended the benefits under its SLF-MF s

What does SLF-MF stand for, in the scheme ?

(A) Special liquidity facility for Mutual Funds e _'E ""‘!
§“r . Pl ol o

(B) Special liquidity funds for Micro Finance ket e

§' X L it e )
(C) Sustained limited funding for Multiple Finance HSIN[ ' "L 5 1?

I

!

jowr TP I
% & i

(D) Sustained leverage funds for Micro Finance e e

114."Mukhyamantri Yuba Yogayog Yojana’, that was recently in news, is an initia

which Indian State/Union Territory ?

(A) Madhya Pradesh (B) Tripura

(C) Uttar Pradesh (D) Haryana
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115. What is ‘HR 6819°, that has been discovered by the European Southern Observatory
(ESO) ?

(A) Galaxy (B) Star

(C) Exo-planet (D) Black hole

116. The definition of MSMESs has recently been revised. Which criterion has been added

along with investment ?
-“—'-"_“"‘\-“ -

(A) Annual Turnover (B) Capital ll_, F"’ c .
(C) Net Profit (D) Gross Profit dr')"" $p
L PSs
117. Shyamala G Bhave who passed away recently was associated with WMS“S’I'&T?” o
(A) Music (B) Literature
(C) Writer (D) Painting

118. Match List-I with List-If in connection with the amendment of Indian Constitution and
select correct answer from the option given below :

List-{ List-1I

(i} 73rd Amendment | (a) Introduction of Panchayat Raj Addition of Part IX to the
Indian Constitution

. (ii) 86th Amendment | (b) Free and compulsory education to children between
| 6 and 14 years

(iii) 100th Amendment| (¢) Introducftion of Gods and Services Tax (GST)

| (iv) 101st Amendment | (d) Exchange of some enclave territories with Bangladesh
Conferment of citizenship rights to citizens of enclave’s
resulting to signing of Land Boundary Agreement (LBA)

Treaty between India and Bangladesh

tA) (1) and (d) (B) (i1) and (d)

) (i) and (b) (D) (iii) and (d)
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119.

120.

121.

122.

123,

Coulrophobia means fear of
(A) Colours (B) Clowns
(C) Coal (D) Cats

Which international financial institution has granted $1 billion fund to India to stre:

its response in containing Covid-19 ?
(A) World Bank

(B) International Monetary Fund

(C) Asian Development Bank

(D) None of the above

The World Trade Organisation has replaced which organisation ?
(A) ITO (B) UNCTAD

(C) GATT (D) OECD

Chameli Devi Jain Award is an annual award presented to outstanding perforn
which field ?

(A) Politics (B) Sports

(C) Journalism (D) Saocial Service

Which State Legislature mentioned below is not bicameral ?
(A) Madhya Pradesh (B) Mabharastra

(C) Andhra Pradesh (D) Uttar Pradesh
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124. What does ‘M’ stand for in the «“NMIS” online dashboard recently developed by the
National Disaster Management Authority %

(A) Maintenance (B) Ministry

(C) Movement (D) Migrant

125. Which Union Ministry has launched ‘CHAMPIONS® portal to assist enterprises ?
(A) Ministry of Human Resource Development
(B) Ministry of MSME
(C) Ministry of Science and Technology

(D) Ministry of Rural Development

126. What is *Airlens Minus Corona’, that was seen in news recently ?
(A) Disinfectant Robot (B) Air purifier

(C) Sanitiser (D) Special Mask

:27. The Central Government has announced a scheme to completely solarise which famous
f temple ?

(A) Puri Jagannath Temple, Odisha e (T
T R S Sy
(B) Golden Temple, Punjab ST T e G . \
RIS
\

(C) Konark Sun Temple, Qdisha

(D) Meenakshi Amman, Tamil Nadu

[ ]

A

_\ame the author of the book — “My Seditious Heart™.

[y

(A} Nayvantara Sahagal (B) Arundhati Roy

(C) Suketu Mehta (D) Tishani Doshe
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129.

130.

134,

132,

133.

The documentary film ‘SHIKHAR SE PUKAR’ is related with which issue ?

(A) Girl Education (B) Water Conservation

(C) Women Empowerment (D) None of these

Identify the wrong pair

(A) UN Day : 24th October

(B) Earth Day : 22nd April

(C) World Press Freedom Day : 1st May

(D) Kargil Vijava Divas : 26th July

Which Act during the British Colonial Era introduced ‘Dyarchy’ in British Indian
(A) Regulating Act, 1773

(B) Morley Minto Reforms Act, 1909

(C) Montague Chelmsford Reforms Act, 1919

(D) Government of India Act, 1935

Robert Baptiste, who was seen in news recently, is associated with which field 9
(A) Epidemiology (B) Virology

(C) Cyber-security research (D) Architecture

Which recently discovered micro-organism has been named after Twitter 9
(A) Bacteria (B) Virus

(C) Fungus (D)} Protozoa
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134. As per the recent statement of Bombay High Court amid the Covid-19 pandemic, which
right is recognized as a facet of the right to life ?

(A) Right to healthcare (B) Right to social security

(C) Right to decent burial (D) Right to communicate

135. Chiropterochory is a seed dispersal process through
(A) Birds (B) Bats

(C) Reptiles (D) Insects

136. What is the name of the campaign launched by the Ministry of HRD, for crowd sourcing
of ideas to improve online education ecosystem of India ?

(A) Bharat Padhe Online (B) Bharat Shiksha Online

(C) India Studies Online (D) Bharat Idea Online

137. Article 142 of the Indian Constitution, dealt with which of the following ?

{A) Seat of Supreme Court

=
(B) Ancillary powers of the Supreme Court ] P_LH;F_'__S C
DS vl ey
(C) Special leave to appeal by.the Supreme Court o F.I;,,:'? L - &
PO F fg
B - ek

(D) Enforcement of decrees and order of Supreme Court L‘: *;"‘}‘—_"5‘-

138, “Bhuvan’ is
(A) a mini satellite launched by ISRO for promoting the distance education in India
(B) the name given to the next moon Impact Probe, for Chandrayan 11
(C) a geoportal of ISRO with 3D imaging capabilitics of India

(D) a space telescope developed by India

2 TR CTSTPS/PRE20/A-3000 (33) “Tumn over



134. As per the recent statement of Bombay High Court amid the Covid-19 pandemic, which
right is recognized as a facet of the right to life ?

(A) Right to healthcare (B) Right to social security

(C) Right to decent burial (D) Right to communicate

135. Chiropterochory is a seed dispersal process through
(A) Birds (B) Bats

(C) Reptiles (D) Insects

136. What is the name of the campaign launched by the Ministry of HRD, for crowd sourcing
of ideas to improve online education ecosystem of India ?

(A) Bharat Padhe Online (B) Bharat Shiksha Online

(C) India Studies Online (D) Bharat [dea Online

137. Article 142 of the Indian Constitution, dealt with which of the following ?

(A) Seat of Supreme Court

r E_"—'-*-_

(B) Ancillary powers of the Supreme Court T ,-_.__ﬁ___:mS C

‘. 3 ::'\: ;‘L ; !' 5 .‘-—:: i :""“ ) E

(C) Special leave to appeal by.the Supreme Court .y Rl * MRS
SONUT RO

jC T dale

(D) Enforcement of decrees and order of Supreme Court L‘:’ Bl =

138, “Bhuvan’ is
(A) a mini satellite launched by ISRO for promoting the distance education in India
(B) the name given to the next moon Impact Probe, for Chandrayan 11
(C) a geoportal of ISRO with 3D imaging capabilities of India

(D) a space telescope developed by India
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139. In which year Tripura became an Union territory of India ?
(A) 1951 (B) 1953

(C) 1956 (D) 1958

140. How many railway stations exist between Dharmanagar and Sabroom railwa;
(A) 20 (B) 23

(C) 27 (D) 25

141. Most essential substance for Brain cells to work is
(A) Vitamins (B) Hormones

(C) Glucose (D) None of these

142. Excess nitrate in drinking water can mainly cause
(A) Methemoglobinemia (B) Kidney damage

(C) Liver damage (D) None of these

143. Which of the following is a non-communicable disease ?
(A) Amebiasis (B) Malaria

(C) Arthrities (D) Tuberculosis

144, What is common name of State butterfly of Tripura
(A) Common Mormon (B) Common Birdwing

(C) Common Jezebel (D) Common Grass Yellow
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145, PL. arrange the following industries in order from highest to lowest order of water

consumptions

1. Thermal power 2. Steel

3. Pulp and paper 4,  Sugar
(A) 1,3,2,4 (B) 4,1,2,3
(€) 2,4,3,1 D) 3.1,2,4

146. Which of the radioactive material is largely associated with the bone marrow cancer ?
(A) Radium - 226 (B) Thorium - 232

(C) Strontium - 90 (D) Iodine

147. Which of the following is the best indicator of SO, pollution ?

(A) Bryophyte (B) Pteridophyte
% T i i e ST -
(C) Lichen (D) None of these la__-—_-a‘-: E’_'_.§——a(
A H's“‘t" i
148. Limivorous creatures feed on é\f 07

== T
(A) Lime juice (B) Earth mud & ,.,E_-—? —
(C) Fruits (D) Leaves

149. Which one of the following is the important ore of magnesium ?

(A) Cassiterite (B) Malachite

(C) Brucite (D) Galena
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150. Consider the following compounds with reference to constituent(s) of dettol
(I) Chloroxylenol (I) Terpineol
Which of the compounds given above is/are correct 9
(A) only (I) (B) Only (ID)
(C) Both (I) & (11) (D) Neither (I) or (IT)
151. As per Bureau of Indian Standards (BIS) for drinking water acceptable limit for total
hardness as CaCO3 is
(A) 100 mg/l - (B) 200 mg//

(C) 300 mg// (D) None of these

152. To get an image, larger than object, one can use
(A) Convex mirror (B) Concave mirror

(C) Plane mirror (D) Plano Convex mirror

153. What is “Agent Orange™ ?

(A) An insecticide (B) A herbicide
(C) A fertiliser (D) A biofertiliser
154, Parasites which initiate production of antibodies within hosss 2oz -2 - i3
(A) Homoparasites (B) Zooparasites
(C) Pathogenic parasites (D) Endoparasizzs
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2%, Right to clean environment is guaranteed in Indian Constitution by

(A) Article 21

(C) Article 25

156. Peaty soil is found more in
(A) Gujarat

(C) Uttar Pradesh

(B) Article 19

(D) Article 14

(B) Maharashtra

(D) Kerala

157. Mesothelioma’ is caused by toxicity of

(A) Arsenic

(C) Mercury

(B) Lead

(D) Carbon monoxide

158. Intestinal bacteria synthesizes which vitamin in the human body ?

(A) Vitamin A

(C) Vitamin D

(B) Vitamin C

(D) Vitamin K

159. Which is the largest part of the human brain ?

(A) Thalamus

(C) Cerebrum

160. Sugarcane is a type of
(A) creeper

(C) grass

2/TR/CTSTPS/PRE/20/A-3000

(B) Pons

(D) Ribs

(B) shrub

(D) tree
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161. The purest form of iron is
(A) White cast iron (B) Grey cast iron

(C) Wrought iron (D) Steel

162. Which wave is being used by common TV remote control ?
(A) Radio waves (B) Micro waves

(C) Infrared waves (D) Ultrasonic waves

163. Which of the following gas has highest global warming potential ?
(A) SF, (B) PFC,

(©) N,0 (D) CH,

164. Which gas was leaked from LG Polymers India Pvt. Ltd. in Vizag on 7th May, 2020 ?
(A) Methyl isocyanides (B) Styrene

(C) Methane (D) Aliso Canyon

165, Which of the following is a characteristic feature of Artificial Intelligence system ?
(A) Learning from data
(B) Efficient memory management
(C) Communication between machines

(D) Execution of complex and distributed programes.
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166. L

iI.

HI.

If the first two statements are true, the third statement is

Class A has a higher enrollment than class B

Class C has a lower enrollment than class B

Class A has a lower enrollment than class C

(A) True

(C) Uncertain

167. Arrange the following words in an appropriate order

1. Rainbow
2. Rain

3. Sun

4. Happy
(A) 2,3, 1. 4
(C) 4, 2, 3,1

168. Arrange the given words in a meaningful sequence

1. Flat

2. Building
3. Place

4. Society
(A) 4, 3,1, 2
(C) 3.4, 2, 1

2/TR/CTSTPS/PRE/20/A-3000

(B) False

(D) None of these

B) 4,1, 2,3

(D) 2,1, 4,3

(B) 2,3, 41

D) 3,1,4,2

(39)
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169. Arrange the given words in the sequence in which they occur in the dictionary :
1. Obstacle
2. Obscure

3.  Obsession

4. Obstruct
(A) 3.4, 1, 2 (B) 1, 4, 3, 2
) 2,3, 1, 4 (D) 4, 3, 2, 1

170. In a row ‘A’ is in the 11th position from the left and ‘B’ is in the 10th position
from the right. If ‘A’ and ‘B’ interchange, then ‘A’ becomes 18th position from the
left. How many persons are there in the row other than ‘A’ and ‘B ?

(A) 27 (B) 26
(C) 25 (D) 24
171. In a certain code language COMPUTER is written as RFUVQNPC. Then how
MEDICINE will be written in that code language ?
(A) MFEJIDJOE (B) MFEDIJJOE
(C) EOIDEJEM (D) EOJDIEFM
172. In a certain code language ‘TEARS’ is written as ‘UGDVX’ then ‘SMILE® would
be written as
(A) TOKNH (B) TOJPJ

(C) TOLNG (D) TOLPJ
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173. Three of the following four are alike in a certain way and hence form a group. Which

is the odd one that does not belong to that group ?
(A) EBA (B) JFE

(€) XUT (D) TQP

174. If Z = 52 and ACT = 48, then BAT will be equal to
(A) 46 (B) 41
(C) 44 (D) 39

175. In the following question, a matrix of certain characters is given which follow a

certain trend, row-wise or column-wise. Find out the trend and choose the missing

character

A D H

F I M

(s N R
(A) K (B) N
< P D) O

176. In a family, there are six members A, B, C, D, E and F. A and B are married
couple, A being the male member. D is the only son of C. Who is the brother of
A. E 1s the sister of D. B is the daughter-in-law of F, whose husband has died.

How many female members are there in the family ?

(A) 1 C® 2
©) 3 (D) 4 S i
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177

178.

179.

180.

Complete the analogy

Grain : Stock : : Stick : ?

(A) Lot (B) Heap
(C) String (D) Bundle
Horse : Jockey : : Car : ?

Which is suitable word in ¢ ? * place
(A) Steering (B) Chauffeur

{(C) Brake (D) Mechanic

A man is facing North-West. He turns 90° in the clockwise direction, then 180° in
the anti clockwise direction and then another 90° in the same direction. Now he

is facing in the direction

(A) South-West (B) South-East
(C) South (D) East
How many 4’s are there precedes by 7 but not followed by 3 in the given sequence ?

593217426974613
287413832567439

5820187463
(A) four (B) six

(C) three (D) five
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181. What is the next letter of the following sequence ?
N, OOM P L Q K, R, ?
(A) S B) I
() ] D)y T

182. Ram, Rahim, Rabi, Rohan and Ramen are five friends. Rohan is taller than Ram
and Rabi, Rahim is shorter than Ramen but taller than Rohan. Who is the tallest

among them ?
{(A) Ram (B) Rahim
(C) Ramen (D) Rohan

183. Find the missing letters from the given responses :
AGM, BHN, CIO, *?
(A) COU (B) FQK
(C) QXD (D) DJp

184. What is the difference between the local values of 3 in the number 43403 ?

(A) 0 (B) 3030
(C) 3003 (D) 2997
| !r TS ¢
185. Find out the wrong term in the series Ca L e ZroEs
3, 7, 15, 39, 63, 127 S";;-eu; D SRl
CTEL &
() 63 (D) 127
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186. The average of 11 results is 50. If the average of first six results is 49 and that

of last six is 52, the sixth result is then
(A) 65 (B) 49

(C) 56 (D) 66

187. When 60 is subtracted from 60% of a number, the result is 60. The number is
(A) 200 (B) 150
(€ 180 (D) 120

188.1f the selling price of 10 articles is the same as cost price of 12 articles. Then the
gain per cent is
(A) 30% (B) 20%
(C) 50% (D) 40%

189. By selling goods for Rs. 240, a man gains 25% How much per cent would he gain
by selling it for Rs. 216 ?
(A) 12% (B) 21%
(C) 12%% (D) 20%

190. The simple interest for a sum of money be %th of the principal in 10 years. Then

the rate of interest is

A) 65% (B) 6%
©) 5% (D) 4%
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191.

193.

194,

195.

In a mixture of 60 Its, the ratio of milk and water is 2 : 1. What amount of water
be added to make the ratio 1 : 27

(A) 60 lts (B) 42 Its

(C) 56 lts (D) None of these

. The compound interest for the sum of Rs. 1,500 a 10% per annum for 2 years
be

(A) Rs. 300 (B) Rs. 180

(C) Rs. 315 (D) None of these

A and B can do a piece of work in 12 days whereas A can do it alone in 18 days.

Then B can alone complete the work in

(A) 30 days (B) 36 days
(C) 42 days (D) None of these
A is twice as old as B. Before 10 years, his age was three times the age of B at

that time. Then the present ages of A and B are
{A) 20 years, 10 years respectively

(B) 40 years, 20 years respectively

(C) 30 years, 15 years respectively

(D) 24 years, 12 years respectively

A boat goes 11 km/hr, along the stream and 5 km/hr against the stream. The speed
of the boat in still water (in km/hr.) is

(A) 3 km/hr. (B) 9 km/hr.

(C) 8 kmhr. (D) 5 km/hr.
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